<= P =
"0"’0',"/’
P e

AUTO

Sirong

A STRONGHOLD BY PRECISION AND POWER.

Vv
=M EHERE (RS EER)

3-jaw wedge type non through-hole
power chuck (adapter excluded)

1. EEAE  ENRFIREE—BZ B MAE

2. BREER B IR 44 ¢ 2451 5K B B T U A0 A A5 A PR GE R E D

VT&VIT
= MR MM P EEESEER (R &R

2-jaw and 4-jow wedge type non
through-hole power chuck (adapter excluded)

1 EERKERG - BARZMKRERERFZIBATMRIH - IRA
iz ~ EREO#& -

2. AJEVER VARV E# -

3. BARRTRBEIVEIFES -

4. SERERVEISEE -

“—

HEZSerration Pitch 1.5 iJi¢ Serration Pitch 1.5

s P X T 8 P X T VT
| | . F— /
1 1 4
. & T &
) ] 2 (]
V-205 —1 > (4} - s ]l (3
o) A ¥ - o, g N2
=4 | ’\ =z Z | .
i 1 = ‘ - RS — - = ( i ! 7 - l
=T Lo R
=" SN H D= 2 S A\, , :
V-205(1) — ﬁ I \ '
<l o () I o ) ‘ =) -
| . < ~J
™ s | = as) = - = ™ = |
== e e v
1 //‘ -,*"—-
_}S/ M - K/ M R
B 0" =V-205 o B
15°2V-206~V-218 - - m
o]
BSfi1 : mm Bfil : mm
B Ll ey
R B b
V-205 15 6.4 836 2570 22.4 5500 6.3 0.015 MH80 HJ05 HCO05 06-0135 VT-206 2 20 9.2 1224 3569 17.3 5200  12.3 0.045  MS105C  HJO6 HCO6 018-0165
V-206 20 9.2 1835 5353 26.5 5200 127 0.048 MS105C HJ06 HC06 018-0165 VT-208 2 21 9.7 1683 5098 16.3 4500 231 0.13 MS125C  HJ08 HCo8 026-0210
V-208 21 9.7 2549 7648 25.5 4500  23.8 0.137 MS125C HJos HCo8 026-0210 VT-210 2 25 8.8 1988 7342 19.4 4000  35.1 0.29 MS125C  HJ10 HC10 026-0254
V-210 25 8.8 2957 11013 28.6 4000  36.4 0.3 MS125C HJ10 HC10 026-0254 VT-212 2 30 10.5 2804 10605 18.4 3300  60.3 0.7 MS150C  HJ12-1  HC12-1  ©26-0304
V-212 30 10.5 4181 15907 27.5 3300 623 0.78 MS150C  HJ12-1 HC12-1 026-0304 VIT-212 4 30 10.5 4181 15907 275 2800  64.3 0.77 MS150C  HJ12-1  HC12-1  026-@304
V-215 35 16 8362 25391 32,6 3000 106 1.94 MS200C  HJ15-1 HC15-1 068-0381 VT-215 2 35 16 5557 16927 21.7 3000 1026 1.89 MS200C  HJ15-1  HC15-1  ©68-0381
V-218 35 16 8362 25391 32.6 2700 122 3.09 MS200C  HJ15-1 HC15-1 098-0450 VIT-218 4 35 16 8362 25391 32.6 2300 127 3.21 MS200C  HJ15-1  HC15-1  ©98-@450
B B
R~ R~
V-205 135 55 80 14 100 14 3-M8x60 — 7 305 1675 625 9 6 3 10 35 25 Mi2x1.75 28 32 62 VT-206 165 74 140 20 10478 14 4-M10x70 21 5 387 1525 7.75 1046 846 4 12 36 31 M16x2.0 34 39 73
V-206 165 74 140 20 10478 14 6-M10x70 21 5 387 1525 7.75 1046 846 4 12 36 31 Mi6x2.0 34 39 73 VT-208 210 85 170 25 133.35 20 6-M12x85 25 5 4675 2225 875 132 111 5 14 36 35 M20x25 38 41 95
V-208 210 85 170 25 133.35 20 6-M12x85 25 5 4675 2225 875 132 111 5 14 36 35 M20x25 38 41 95 VT-210 254 89 220 30 17145 18 6-M16x85 34 5 511 3075 975 158 133 5 16 36 40 M20x2.5 45 46 110
V-210 254 89 220 30 17145 18 6-M16x85 34 5 511 3075 975 158 133 5 16 36 40 M20x25 45 46 110 VT-212 304 106 220 30 17145 23 6-M16x105 34 6 61 4875 975 163 133 5 18 36 50 M20x2.5 50 54 130
V-212 304 106 220 30 17145 23 6-M16x105 34 6 61 4875 975 163 133 5 18 36 50 M20x25 50 54 130 VIT-212 304 106 220 30 17145 23 4-Mi6x105 34 6 61 4875 975 163 133 5 18 36 50 M20x25 50 54 130
V-215 381 114 300 43 235 29 6-M20x115 — 6 775 4975 2125 104 69 2 255 55 62 M30x35 60 63 165 VT-215 381 114 300 43 235 29 6-M20xi15 — 6 775 4975 2125 104 69 2 255 55 62 M30x35 60 63 165
V-218 450 114 300 43 235 29 6-M20x115 — 6 108 4975 2125 92 57 2 255 55 62 M30x35 60 63 165 VIT-218 450 114 300 43 235 29 4-M20x115 — 6 108 4975 2125 92 57 2 255 55 62 M30x35 60 63 165



